SANICA .2
HIZLI MONTAJ
SISTEMI

GOMME
REZERVUAR
MONTAJ VE
BAKIM KILAVUZU

FRONT OF WALL,
QUICK INSTALLATION
SYSTEM

CONCEALED

CISTERN
INSTALLATION AND
MAINTENANCE GUIDE

SAN100
SANS8S

3/6 LT




OZELLIKLER

Cift basmali (3 ~ 6 litre) kullanim

0.3 ~ 16 bar araliginda ¢alisma

Statik Elektrik Boyal Sase

400 kg yuk tasima kapasiteli sase

Kolay montaj

Kicuk ve zarif tasarim

Bugulanmayi 6nleyici strafor kapl gévde

2 yil garanti

SPECIFICATIONS

Flush cistern adjusted for dual flush (3 ~ 6 litres)
0.3 ~ 16 bar operating pressure

Static Electric Painted Chassis

400 kg loading capacity frame

Easy installation

Small & fine design

Anti-condensation polyfoam covered body

2 year guarantee



TEKNIK CizZiM / TECHNICAL DRAWING

395
300 115
210

min.15

190

800

595

1100

3
135

100
T
LI

320

i
min.295
max.540

h

90

180

459
230 359

210
I 85 min.‘15mm

ONEMLIi NOT

Yiikseklik ( h) 6l¢lsl bitmis zeminden
saplama eksenini ifade etmektedir ve
ortalama olarak 320 mm. ‘dir. Ancak kesin
06lcl, kullanilacak klozetin saplama ekseninin
oOlclstine gore ayarlanmalidir.

800

595

IMPORTANT NOTE

Height (h) measurement means between
the axis of the connection of the WC pan
and the finished ground level and the
average height is 320 mm. Howewer, the
final measurement should be adjusted
according to WC pan's connection axis.

100
135

320

h
h=

90




PARCA VE KODLAR / PARTS AND CODES

Sablon Kapag
Panel

3 Lt. Butonu

6 Lt. Butonu

Buton Yayi

Vidali Cubuk
Basma Cubugu

3 Lt. Klips

6 Lt. Klips

Plastik Cerceve
Koruyucu Kapak
Hareketli Kol Kopriisii
Hareketli Kol

Klips

4x20Vidasi

Sablon

Tutucu Kulak
Cekme Kolu

Tasma Borusu
Bogaltma Straforu
Bogaltma Plakasi
Segman

Kelepce Contasl
Fanus

Bosaltma Yatagi
Bosaltma Yatak Contasi
Bogsaltma Yatak Oringi
Samandira Kolu
3Lt. Samandira
Samandira Straforu
Bosaltma Koprisii
Musluk Siingeri
Ara Musluk

Flex

Flator Somunu
Flator

Flator Conta Tutucu
Doldurma Kopriisii
Membran Conta
Membran Conta Pimi
Flator Kapag

\OOO\IC\m-bWN_\l

BDE W W W W W W W NRNNRNRNDNRNRN /2 = 42 0 a3
—_ O WV o0 Ny U B WN /L, O VWO N WN /2 O VWO WN - O

Gauge Lid

Panel

3 Liters Button

6 Liters Button
Button Spring

Screw Bar

Pressing Bar

3 Liters Spring Clip

6 Liters Spring Clip
Plastic Frame
Protecter Lid

Moving Arm Cross Over
Moving Arm

Clips

4x20 Screw
Template

Binding Flap

Pulling Arm
Overflow Pipe
Discharge Styrofoam
Discharge Plate

Ring

(lip Gasket

Outlet Valve Body
Discharge Unit
Discharge Unit Gasket
Discharge Unit 0 Ring
Floater Arm

3 Liters Floater
Floater Styrofoam
Discharge Bridge

Tap Sponge

Interval Tap

Flexible Hose

Floater Gasket
Floater

Floater Gasket Holder
Filling Bridge
Membran Gasket
Membran Gasket Bolt
Floater Lid

Flator Borusu
Damlalik

Manivela Contasi
Manivela Kolu
Samandra Cubugu
Vidali Ayar Cubugu

i¢ Havuz Samadrasi
Dis Havuz Samandrasi
Flator Alt Kapak

Ust Gévde

Alt Govde

Govde Oringi

Temiz Su Borusu

Pis Su 90 Dirsek
Adaptor Contasi
Adaptor

Govde izolasyon Straforu
Temiz Su Boru Contasi
Pis Su Dirsek Contasl
Plastik Kelepce

Metal Sase

M10x25 Ucu Sivri Civata
Metal Ayak

Trifon Vida

5/16 Pul

M10 Expandet Dubel
Ara Uzatma Borusu
Ara Uzatma Boru Contasl
Temiz Su Tapasi

Diiz Boru

Diiz Boru Contasi

Pis Su Tapasi

M12 Somunlu Pabug
Plastik Takoz

M12 Pul

M12 Somun

Vida Kapag
M12x300 Saplama
M10x200 Saplamali Pabug
Flator Kapak Somunu
Manivela Kol Pimi

0
Ik}
4
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82

Floater Pipe

Drip Tray

Lever Gasket

Lever Arm

Floater Bar

Adjusted Screw Bar
Interior Tank Floater
Exterior Tank Floater
Below Floater Lid

Upper Body

Lower Body

Body Gasket

(lean Water Pipe

Waste Water 90 Degree Elbow
Adaptor Gasket

Adaptor

Body Isolation Styrofoam
(lean Water Pipe Gasket
Waste Water Elbow Gasket
Plastic Bracelets

Metal Chassis

M 10x25 Sharp Ended Bolt
Metal Leg

Screw

M12 Nut

M10 Expanded Wall Plugl
Interval Extension Pipe
Interval Extension Pipe Gasket
(lean Water Stopper

Plain Pipe

Plain Pipe Gasket

Waste Water Stopper

Base with M12 Nut

Plastic Backstop

M12 Washer

M12 Nut

Screw Lid

M12x300 Threaded Nut
Base with M 10x200 Threaded Nut
Floater Lid Nut

Lever Arm Bolt






BOSALTMA GRUBU MONTAJI / DISCHARGING GROUP INSTALLATION

Not: 3 litre samandiranin (C) sag tarafta
olmasina dikkat ediniz.

Note: 3 liters floater shoud be on the
right side (C).

Bosaltma yataginin takilmasi

Bosaltma grup yatagini dogru yonde takilmasini
saglayan tirnagi govde icindeki yuvasina (A1) gegirin ve
(A2) ok yoniinde bastirarak gévdenin temiz su kanalina
takin. Taktiginiz bu parca ayni zamanda sizdirmazlik
saglar.

Installation of Discharging Unit

Place the pin that helps discharging unit to be installed
correct way into it's place (A1) and (A2) press the arrow
direction to install to clean water channel of the body.

Bosaltma grubunun takilmasi

Bosaltma grubunu gévdenin icine taktiktan
sonra ana govdeye kilitleyen tirnagi (A3)
yuvasina oturtarak ok yoniinde kilitleyiniz.

Installation of Discharging Group

After the installation of discharging group into
the body, lock the pin to it's place to

the arrow direction.



DOLDURMA GRUBU MONTAJI / FILLING GROUP INSTALLATION

(A5)

(A4)

Bosaltma grubunu gévdeye sabitleyen ve
darbelere karsi da korumaya yarayan
képrindn tutucu kulaklarini (A4) gévdedeki
yuvalarina oturtarak kopri kolundaki tirnagi
(A5) Ust govde ile alt gévdenin birlesme
noktasindaki yuvasina bastirarak itiniz.

Place the bridge's holding clips (A4) into their
places; the clips stabilize the discharging
group to the body and help to protect against
the impacts and push the pin (A5) with
pressing by hand to the upper and lower
body's connection point.

Doldurma grubu baglantisi

Doldurma grubunu ana gévdeye sabitlemek
icin, doldurma kopristindeki kare pimi
yuvasina oturtarak sola dogru itiniz. (A6)
Doldurma grubunu sabitledikten sonra
rezervuarinizin temiz su baglantisi igin flex
somununu (A7) sikarak diger ucundaki

ara muslugunu (A8) ise duvardaki tesisatinizin
durumuna goére govdedeki Ust, arka veya yan
delik yerlerinden uygun olani agarak tesisat
baglantisini yapiniz.

Filling Group Connection

Place the square pin to it's place by moving to the
left side in order to fix the filling group

to main body (A6). After fixing the filling group,
squeeze the flex turnscrew (A7) for the clean water
connection of the concealed cistern and connect
the interval tap (A8) according to installation on
the wall to the suitable upper, rear or side hole by
opening.




HAREKETLI KOL, KORUYUCU KAPAK VE SABLON MONTAJI

INSTALLATION OF THE MOVING ARM, PROCTECTIVE COVER AND TEMPLATE

HAREKETLI KOL KOPRU MONTAJI INSTALLATION OF THE MOVING ARM BRIDGE
Hareketli kol kdpriisiinii ana govde lizerindeki Place the moving arm bridge into it's place (1) by
yuvasina (1) iterek gegirin, daha sonra genis pushing on the main body then get through the

tarafindaki kanallari (2) yine ana govde lizerindeki  channels (2) on the wide side of the body, fix the
pimlere gegirerek kopriyl (3)sola dogru iterek bridge (3) by pushing to the left side on the main
sabitleyin ve hareketli kolu cekme koluna takin.  body and mount the moving arm to pulling arm

KORUYUCU KAPAK MONTAJI (A1)

Koruyucu kapagini (A1) sekilde goraldigu gibi, 6nce alt
kismindaki tirnaklar oturtun ve daha sonra Ust taraftaki
mandallar bastirarak kilitlenmesini saglayin.

INSTALLATION OF THE PROTECTIVE COVER (A1)

Firstly, mount the protective cover (A1) to the bottom of the
clips as it can be seen on the picture and then ensure the top
pins locked.

SABLON VE KAPAK MONTAJI (A2)

Sablonu sekilde goriildugu sira ile ana gévde
Uzerindeki yerine vidalayarak sabitleyin ve
sablon kapagini takin. (A2)

INSTALLATION OF THE TEMPLATE AND COVER (A2)

Fix the template by screwing to it's place on

the main body in sequence and install the template cover
(A2).




DUVAR MONTAJI / WALL INSTALLATION

Rezervuarinizin montajini yapacaginiz alana, su
tesisatiniza ve pis su giderine uygun sekilde
yerlestiriniz. Teknik ¢izimde gosterildigi sekilde,
montaj yuksekligini ayarlayiniz, Su terazisi
kullanarak yere diizliglini saglayiniz. Daha sonra
duvara ve yere sabitleme vida takimlarini
kullanarak sabitleyiniz. Duvara sabitleme islemini
yaparken, Griintin Uzerindeki sablon kapag,
saplama hortumlari, pis su - temiz su tapalarinin
takili  olmasina dikkat ediniz. Fayans
uygulandiktan sonra sablonu sekil A3 de
gorildagi gibi fayans yuzeyi ile sifir olacak
sekilde falcata ile kesilmelidir. Kumanda
panellerini ve klozet baglantisini bu islemden
sonra yapmaniz gerekmektedir.
Koruyucu  koépuk, saplama
hortumlari, pis su ve temiz su
tapalari, ayni zamanda kumanda
paneli ve ara uzatma borusu,
diz  borunun montaj
sablonlardir.

Place the concealed cistern to the installation
place properly according to water system and
waste water drainage. Arrange the installation
height as it can be seen on the technical drawing.
Ensure the flatness on the ground by using water
gauge and then use the fixing screws to fix it to
the wall and the floor. While doing the fixing
process to the wall, make sure that the face mold,
threaded nut pipes and waste and clean water
plug installed. After ceramic tiles installed, the
face mold should be cut the same level as
ceramic tile as it can be seen at figure A3.
The control panel and WC pan connections
should be done after above process. The face
mold, the threaded nut pipes, the waste

\ and the clean water plug, the control
‘ panels and the interval extension
” ‘ pipe are the installation face mold

of the straight pipe.



KUMANDA PANEL MONTAJI / INSTALLATION OF CONTROL PANEL

Plastik cerceveyi kumanda panelini tutan yaylar Screw the plastic frame slightly by using screwed
(B1) asagida kalacak sekilde sablon lzerindeki bar and keep the springs (B1) that hold the
tutucu kulaklara vidalh ¢ubuklar kullanarak fazla control panel down.

sikmadan vidalayiniz.

Note: The thickness of the wall should be
Not: Duvar kalinigr minimum 15 mm olmalidir. minimum 15mm.

Basma cubuklarini hareketli
kol tizerindeki klipsleri sekil
B2'deki ol¢lyl ayarlayarak
takiniz. Daha sonra sekil
B3'deki 3-6 It klipslerini 3 It
klipsi sag tarafa gelecek
sekilde takiniz.

Adjust and mount the
pressing bars and the clips on
the moving arm as in figure B2
and then mount the 3 liters
clip of the 3-6 liters clips on the

right side as in figure B3.

KUMANDA PANELININ TAKILMASI

Kumanda panelinin alt i¢ tarafindaki kanala plastik ¢ercevedeki
yaylari (B1) oturtunuz. Daha sonra alttan yukari dogru kaldirarak
kumanda panelinin Ust i¢ kanalini plastik gergeveye geciriniz.(B4)

MOUNTING CONTROL PANEL
(B4) Place the springs (B1) on the plastic frame to the channel of the down
inside of the control panel. Later on, place the upper inside channel of
\_ 1

the control panel to the plastic frame (B4) by lifting from bottom to up.

NOT: Vida takimi icinden cikan diibeller beton diibelidir. Yutong ya da farkl bir zemine uygulanacak
ise kullandiginiz zemine uygun diibel kullaniniz.

NOTE: The wall plugs that come out of screw set are the concrete wall plugs. Use the suitable wall
plug according to the type of wall and floor.



GARANTISARTLARI/ GUARANTEE CONDITION

1 - Garanti siiresi contalar harig 2 yildir ve Uriiniin teslim tarihinden itibaren baglar. Teslim tarihi faturada gésterilen tarihtir.

2 - Uriiniin biitiin pargalari firmamizin garantisi kapsamindadir.

3 - Uriiniin garanti siiresi igerisinde arizalanmasi durumunda, tamirde gegen siire garanti siiresine eklenir. Urlintin tamir siiresi
en fazla 30 ig gtintidir. Bu suire Grtineiliskin arizanin servisistasyonuna, servis istasyonunun olmamasidurumunda, tirintin saticisi,
bayii, temsilciligi, ithalatgisi veya imalatgisindan birisine bildirim tarihinden itibaren baglar. Sanayi Uriiniinin arizasinin 15 is giinii
icerisinde giderilmemesi halindeimalatgi; Uriiniin tamiri tamamlanincaya kadar, benzer ézelliklere sahip bagka bir sanayi Uriiniini
tiiketicinin kullanimina tahsis etmek zorundadir.

4 - Uriiniin garanti siiresi icerisinde, malzemenin iretiminden kaynaklanan arizalar halinde, iscilik masrafi, degistirilen parca
bedeli ya da baska her hangi bir ad altinda hig bir Gcret talep etmeksizin tamiri yapilacaktir.

5 - Uriiniin; Teslim edildigi tarihinden itibaren, belirlenen garanti siiresi icinde kalmak kaydiyla, bir yil icerisinde; ayni arizay
ikiden fazla tekrarlamasi veyafarkli arizalarin dértdenfazla meydana gelmesi veya belirlenen garanti stresi ierisinde farkli anizalarin
toplaminin altidan fazla olmasi unsurlarinin yani sira bu arizalarin maldan yararlanamamay: siirekli kilmasi, tamiri icin gereken
azami slrenin asilmasi, servis istasyonunun mevcut olmamasi halinde sirasiyla saticisi, bayii, acentasi, temsilciligi, ithalatgisi veya
imalatgi-treticisinden birisinin diizenleyecegi raporla rnzanin tamirinin miimkin olmadiginin belirlemesi durumunda, tiiketici
urtiniin  Ucretsiz olarak degistirmesini, bedel iadesi veya ayip oraninda bedel indirimi talep edebilir. Yukarida konusu gecen
raporun tiiketicinin bagvuru tarihinden itibaren yedi giin icerisinde diizenlenmesi zorunludur. Tiiketici raporun belirtilen siire
icerisinde diizenlenmemesi veya raporu kabul etmemesi hallerinde ilgili tlketici sorunlari hakem heyetine bagvurarak mevcut
durumun tespit edilmesini isteyebilir. Satici tiiketicinin yonetmelik maddelerinde belirtilen taleplerini reddedemez. Tiiketicinin
bu taleplerine karsi satici, bayii, acente, imalatgi-Uretici ve ithalatgi miteselsilen sorumludurlar.

6 - Uriiniin montaj ve kullanma kilavuzunda yer alan hususlara aykiri montajindan ve kullanilmasindan kaynaklanan arizalar
garanti kapsami disindadir.

7 - Garanti belgesi ile ilgili ¢ikabilecek sorunlar i¢in Sanayi ve Ticaret Bakanhgi, Tuketicinin ve Rekabetin Korunmasi Genel
Mudurlagii'ne basvurabilir.

KULLANIM HATALARI

«  Tesisatlarda filtre kullanilmalidir.

= Montajdan 6nce, montaj kilavuzu incelenmelidir.

»  Montaj, yetkili saticilarin tavsiye edecedi tesisatgilar tarafindan yapilmalidir.

+  Montaj, kilavuzda belirtildigi sekilde yapiimalidir.

+  Uriinle birlikte verilen temiz ve pis su tapalar, koruyucu képiigiin montaj islemi bitene kadar riiniin tstiinde takil olmalidir.
+  Urlin Gstiindeki montaj eksen dlciileri ile klozet dlgilerinin uyumlu olup olmadig kontrol edilmelidir.

1 -Warranty duration is 2 years except gaskets and the duration begins after delivering the material.

2 -All the parts of the material are guaranteed by our company.

3 -In case of malfunction during warranty period, the repairing time would be added to warranty period. The repairing period is
maximum 30 business days. This period of time begins when the malfunction get notified to the service station and if there is
none, it begins when seller of the material, agent, representative, importer or producer get notified. In case of the defect of the
industrial material is not fixed in 15 business days, the producer must provide the similar industrial material to the consumer until
the defect is fixed.

4 -During the time of the warranty, if there is a defection in the material because of the production, the cost of the labor, the cost
of the changed parts or any fee will not be paid by the buyer while repairing.

5 -The material, in a yearfrom the day delivered, in the condition of staying in the period of warranty, the repitition of same failure
twice or different failures more than four times or because of these failures, if the material's not being able to use permanently
and exceeding the maximum time of repairing, in the situation of service station's is not being exist, the seller, the agent, the
representative, the importer or producer could prepare a report that mentions that the defect cannot be repaired so that the
consumer either could exchange the defected material without any payment or could ask a fully refund or could ask a discount
for the percentage of the defect. The above mentioned report must be prepared in 7 days after the consumer's application. In
case of the report could not be prepared in 7 days or the report is rejected by the consumer, the consumer could apply Arbitration
Court to determine existing situation. The seller cannot reject the consumer's demands that declared in the public act. The seller,
the agent, the representative, the importer and the producer are responsible severally against the consumer's demands.

6 - The malfunctions that caused by wrong installation and misusing against the installation guide and the operating manual are
out of warranty.

7 -It can be applied to the Ministry of Industry and Commerce and the Directorate General of Protectionof the Consumer and
Competition if there will be a problem with warranty certificate.

USAGE MISTAKES

=  Thefilter should be used in the installations.

= Theinstallation guide should be viewed before the installation.

»  The installation should be done by the recommended plumbers from the authorized dealer.

«  The installation should be done as in the installation guide.

+  The clean and waste water plugs that come with the product should be kept the material until the face mold installed.
= The installation axis and the WC pan's dimensions should be compatible to each other.



E ] ] e e e o o o

GARANTI BELGESI
GUARANTEE CERTIFICATE

i L Tl
]

iMALAT(;l VEYA iTHALATCl FiRMANIN
MANUFACTURER OR IMPORTER
ADRESI /ADDRESS Kavakli Mah. istanbul Cad. No: 8/10 34520

Beylikdiizii / Istanbul - TURKEY
TEL & FAX 0212 85580 80 (pbx) / 0212 8558090

FIRMA YETKILISININ
IMZA VE KASESI

SIGNATURE AND STAMP
OF FIRM AUTHORITY

MALIN / MERCHANDISE

CiNSi /TYPE Gomme Rezervuar / Concealed Cistern
MODEL SAN100 / SAN85

BANDROL VE SERi NO.

BANDROLL AND SERIAL NUMBER

TESLIM TARIHI VE YERI

DELIVERY DATE AND PLACE

GARANTI SURESI /GUARANTEE PERIOD 2 yIl/ years

oy L e =0 oy

FAS
e Ly ] = ] e

O
s

SATICI FIRMANIN /SELLER FIRM
UNVANI / TITLE

ADRES /ADDRESS

TEL & FAX

FATURA TARIHi VE NO

INVOICE DATE AND NUMBER

TARIH - IMZA - KASE

DATE - SIGNATURE - STAMP

=
:
B
G
5
=il
B
Sl
B
5
B3
E
o

)]y

Bu Belgenin kullaniimasina; 4822 sayili kanunla degisik 4077 sayili Tiiketicinin Korunmasi Hakkinda Kanun ve buna bagh
yénetmelikler uyarinca, T.C. Sanayi ve Ticaret Bakanlg il Midirligi tarafindan izin verilmigtir.

R0 e e e e e e e e

ENE|





